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ÍÛæ˜Û¶ÛÛ : ¸ÛóÊ¶Û¸ÛªÛ¾ÛÛ× þùÉÛÛÙÈÛéÅÛ ’õ¾ÛÛ×ïõ ›÷ Š«ÛÀõÈÛÐüà¾ÛÛ× ÅÛ‛ÛÛé. 
 

1. (A) ÜÈÛßÛÛ¸Û¶Û¶Ûà …ÛÜ¬ÛÙïõ …ÍÛÀõÛé¶Ûä× ¾ÛÛ¸Û ïõÛ§øÈÛÛ¶Ûà ¸Û±ùÜ©Û…Ûé ›÷̈ ÛÛÈÛÛé. 14 

 (B) ÜÈÛßÛÛ¸Û¶Û ¼Û›÷é¤ø¶Ûà Àõ˜Û¶ÛÛ ïõÀõ©Ûà ÈÛ‛Û©Ûé ÍÛ×˜ÛÛÅÛïõÛé…é ïõˆ ¼ÛÛ¼Û©ÛÛé µýÛÛ¶Û¾ÛÛ× ÀõÛ‛ÛÈÛà ¸Û¦éø ™öé ?   

…¬ÛÈÛÛ 

 ÜÈÛßÛÛ¸Û¶Û …×þùÛ›÷¸ÛªÛ …é¤øÅÛé ÉÛä× ? ÜÈÛßÛÛ¸Û¶Û …×þùÛ›÷¸ÛªÛ ¶Û‘õà ïõÀõÈÛÛ¶Ûà ÜÈÛÜÈÛµÛ ¸Û±ùÜ©Û…Ûé ›÷¨ÛÛÈÛÛé.   

 

2. (A) ¾Ûæ¦øà¶Ûà ïõ¾ÛÛÈÛÛ¶Ûà ÉÛÜî©Û ¾ÛÛ¸ÛÈÛÛ¶ÛÛ× ÜÍÛ±ùÛ×©ÛÛé ›¨ÛÛÈÛÛé.  14 

  (B) ¾Ûæ¦øà ¸ÛäÀõÈÛ¥øÛé ¾ÛéÇÈÛÛ¶ÛÛ× ¼ÛÛÔ ÎÛÛé©ÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÀõÛé.   

     …¬ÛÈÛÛ 

 ¾Ûæ¦øà ¼Û›÷é¤ø¶Ûà ïõ¾ÛÛ¨Ûà¶ÛÛ× ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ¶Ûà ¸Û±ùÜ©Û …¶Ûé ¸Ûé-¼Ûéïõ ¸Û±ùÜ©Û¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé. ©Ûé¶Ûà 

¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé.    

 

3. ÍÛ¾Û©Ûæ¤ø ÜÈÛÊÅÛéÌÛ¨Û ŠþùÛÐüÀõ¨Û …¶Ûé …ÛïèõÜ©Û¶Ûà ¾Ûþùþù¬Ûà ÍÛ¾Û›ÛÈÛÛé.  14 

            …¬ÛÈÛÛ  

 ÍÛÀéõÀõÛÉÛ ‛Û˜ÛÙ …¶Ûé ÍÛà¾ÛÛ×©Û ‛Û˜ÛÙ ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ …ÛïèõÜ©Û ³ùÛÀõÛ ÍÛ¾Û›ÛÈÛÛé.   

 

4. (A) ÈÛéˆ¤øá“ÛÅÛÛˆ¶Û ÍÛ¾ÛÍýÛÛ  14 

 (B) ¾ÛÛÅÛÍÛÛ¾Û“Ûóà …×ïäõÉÛ¶Ûà ABC ¸Û±ùÜ©Û   

    …¬ÛÈÛÛ  

 ¾ÛÛÅÛÍÛÛ¾Û“Ûóà …×ïäõÉÛ¶Ûä× EOQ ¾ÛÛñ¦éøÅÛ ÍÛ¾Û›ÛÈÛÛé.  
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5. (A) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé ƒ (“Û¾Ûé ©Ûé ÍÛÛ©Û) 7 

   (1) ÈÛíéïõÜÅ¸Ûïõ ‛Û˜ÛÙ ÍÛ¾Û›ÛÈÛÛé.  

   (2) ¾Ûæ¦øà¶Ûà ¾ÛÛ×“Û ïõÛé¶Ûé ïõÐéüÈÛÛýÛ ? 

   (3) ¤æ×øïõÛ“ÛÛÇÛ …¶Ûé ÅÛÛ×¼ÛÛ“ÛÛÇÛ¶ÛÛ× ‛Û˜ÛÙ ÈÛ˜˜Ûé ÉÛÛé ©ÛºõÛÈÛ©Û ™öé ? 

   (4) ¾Ûæ¦øà ¸ÛäÀõÈÛ¥øÛ¶ÛÛ× …Û×©ÛÜÀõïõ ÎÛÛé©ÛÛé ïõýÛÛ ™öé ? 

   (5) ÍÛÛ¾ÛÛ¶ýÛ ‛Û˜ÛÙ¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé.  

   (6) ˆ¶ÈÛé¶¤øÀõà ÍÛ×˜ÛÛÅÛ¶Û¾ÛÛ× “ÛäÁú©Û¾Û ›÷¬¬ÛÛé ïéõÈÛà Àõà©Ûé ¶Û‘õà ïõÀõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 

   (7) ¸Ûó©ýÛ‚Û ‛Û˜ÛÙ …¶Ûé ¸ÛÀõÛé‚Û ‛Û˜ÛÙ¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé.  

   (8) ¾ÛÛÅÛÍÛÛ¾Û“Ûóà …×ïäõÉÛ¶Ûä× ¾ÛÐü«ÈÛ ÉÛä× ™öé ? 

 (B) ÍÛÛ˜ÛÛé ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÀõÛé ƒ 7 

   (1) ÍÛ¾Û©Ûæ¤ø ÜÈÛÊÅÛéÌÛ¨Û …é ¶ÛºõÛ¶ÛÛ ¸ÛæÈÛÛÙ¶Ûä¾ÛÛ¶Û¶Ûà ¤éøïõÜ¶Ûïõ ™öé.  

    (a) ‛ÛÁ×ú (b) ‛ÛÛé¤ä×ø  

  (2) µÛÛÀõÛé ïéõ ¸Ûé§øà¶Ûä× ÜÍ¬ÛÀõ ‛Û˜ÛÙ ` 4000; …ÜÍ¬ÛÀõ ‛Û˜ÛÙ ` 400 ™öé …¶Ûé ÈÛé˜ÛÛ¨ÛÝïõ¾Û©Û ` 300 
™öé. ©ÛÛé ºõÛÇÛé ïéõ¤øÅÛÛé ÐüÉÛé ? 

    (a) ` 4100 (b) ` 100 (c) ` 3600 

   (3) šýÛÛÀéõ ÍÛà¾ÛÛ×©Û ‛Û˜ÛÙ, ÍÛÀéõÀõÛÉÛ ‛Û˜ÛÙ ïõÀõ©ÛÛ× …Ûé™ä×ö ÐüÛéýÛ ©ýÛÛÀéõ ÍÛÀéõÀõÛÉÛ ‛Û˜ÛÙ  

    (a) ”Û¤éø ™öé.  (b) ÈÛµÛé ™öé.  (c) ¼Û×¶Ûé ÍÛÁõ‛ÛÛ ¬ÛÛýÛ. 

   (4) ÍÛÛ¾ÛÛ¶ýÛ Àõà©Ûé ÜÈÛßÛÛ¸Û¶Û ¼Û›÷é¤ø ________ ÈÛÌÛÙ ¾ÛÛ¤éø ¶Û‘õà ïõÀõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé.  

    (a) …éïõ  (b) ¼Ûé  (c) ªÛ¨Û 

   (5) ¾Ûæ¦øà¼Û›÷é¤ø¶Ûà ¸Ûé-¼Ûéïõ ¸Û±ùÜ©Û ”ÛÍÛÛÀõÛé …¶Ûé ïõÀõÈÛéÀõÛ¶Ûé µýÛÛ¶Û¾ÛÛ× ÅÛé ™öé.  

    (a) ‛ÛÁ×ú  (b) ‛ÛÛé¤ä×ø 

  (6) ÍÛ×˜ÛÛÅÛïõàýÛ Ü¶Û¨ÛÙýÛ ÅÛéÈÛÛ¶Ûà ¸ÛóÜ’õýÛÛ¾ÛÛ× ÈÛÛÍ©ÛÜÈÛïõ ‛Û˜ÛÙ ïõÀõ©ÛÛ× ÈÛíéïõÜÅ¸Ûïõ ‛Û˜ÛÙ ÈÛµÛä …“Û©ýÛ¶Ûä× 
™öé.  

    (a) ‛ÛÁ×ú (b) ‛ÛÛé¤ä×ø  

   (7) ÜÈÛßÛÛ¸Û¶Û ¼Û›÷é¤ø¶Ûà ¸ÛóÜ©ÛÌ¥øÛÀõ‚Ûïõ ¸Û±ùÜ©Û …é ÈÛíéßÛÛÜ¶Ûïõ ™öé.  

    (a) ‛ÛÁ×ú (b) ‛ÛÛé¤ä×ø  

___________ 
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Instruction : Indicate the same number as given in the question paper. 

 

1. (a) Describe the methods of measuring the economic effects of advertisement. 14 

 (b) In the construction of advertisement budget, which important things managers 

have to keep in mind ? 

OR 

 What is advertisement budget ? Explain various methods which determine 

advertisement budget. 

 
2. (a) Explain the principles of measuring capital earnings. 14 

 (b) Discuss the external sources of supply of capital. 

                    OR 

 Explain discounted rate of return method and pay-back method of capital budget with 

it‟s limitations. 

 
3. Explain break-even analysis with diagram and illustration. 14 

                OR 

 Explain the relationship between average cost and marginal cost with the help of 

diagram. 

 
4. (a) Waitingline problem 

 (b) ABC method of inventory control 14 

        OR 

 Explain EOQ model of inventory control 
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5. (a) Answer in one or two sentences : (any seven) 7 

  (1) Explain opportunity cost 

  (2) What is demand for capital ? 

  (3) What is the difference between short-run cost and long-run cost ? 

  (4) Which are the internal sources of supply of capital ?  

  (5) Explain common cost. 

  (6) How is maximum quantity decided in inventory control ? 

  (7) Explain direct and indirect costs. 

  (8) What is the importance of inventory control ? 

 (b) Select the correct answer : 7 

  (1) Break-even analysis is a technique of forecasting profit. 

    (a) True (b) False 

  (2) Suppose a firm‟s fixed cost is ` 4,000, variable cost is ` 400 and selling 

price is ` 300. What is the contribution ? 

   (a) ` 4,100 (b) ` 100 (c) ` 3,600 

  (3) When marginal cost is less than average cost, average cost  

   (a) Decreases 

   (b) Increases 

   (c) Equal to marginal cost 

  (4) Generally advertisement budget is made for _______ 

   (a) one year (b) two years (c) three years 

  (5) Pay-back method of capital budget considers depreciation and taxes. 

   (a) true (b) false 

  (6) In the process of managerial decision making opportunity cost is more 

important than actual cost. 

   (a) true (b) false 

  (7) Protection of goodwill method is a scientific method of advertisement 

budget. 

   (a) true (b) false 

___________ 
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ÍÛæ˜Û¶ÛÛ : ¸ÛóÊ¶Û¸ÛªÛ¾ÛÛ× þùÉÛÛÙÈÛéÅÛ ’õ¾ÛÛ×ïõ ›÷ Š«ÛÀõÈÛÐüà¾ÛÛ× ÅÛ‛ÛÛé.  
 

1. ½ÛÛÀõ©ÛàýÛ …¬ÛÙ©Û×ªÛ¾ÛÛ× ¾ÛÛé¤øÛ ¸ÛÛýÛÛ¶ÛÛ× Š²Ûé“ÛÛé¶Ûä× ¾ÛÐü«ÈÛ Í¸ÛÌ¤ø ïõÀõÛé.  14 

     …¬ÛÈÛÛ  

 ½ÛÛÀõ©Û¾ÛÛ× ¶ÛÛ¶ÛÛ× ¸ÛÛýÛÛ¶ÛÛ× …¶Ûé “ÛèÐü Š²Ûé“ÛÛé¶Ûä× ¾ÛÐü«ÈÛ ÍÛ¾Û›ÛÈÛÛé.  

 

2. …Ûíé²ÛéÜ“Ûïõ ¶ÛàÜ©Û …é¤øÅÛé ÉÛä× ? …Ûíé²ÛéÜ“Ûïõ ¶ÛàÜ©Û¶Ûà ›÷ÄõÜÀõýÛÛ©Û …¶Ûé Ðéü©Ûä…Ûé ˜Û˜ÛÛë.  14 

     …¬ÛÈÛÛ  

 ½ÛÛÀõ©Û ÍÛÀõïõÛÀõ¶Ûà 1991¶Ûà …Ûíé²ÛéÜ“Ûïõ ¶ÛàÜ©Û¶Ûä× ¾ÛæÅýÛÛ×ïõ¶Û ïõÀõÛé.  

 

3. …Ûíé²ÛéÜ“Ûïõ ÜÈÛïõÛÍÛ¶ÛÛé …¬ÛÙ …Û¸ÛÛé …¶Ûé ½ÛÛÀõ©Û¶ÛÛ× …Ûíé²ÛéÜ“Ûïõ ÜÈÛïõÛÍÛ¶Ûà ÍÛ¾Ûà‚ÛÛ ïõÀõÛé.  14 

     …¬ÛÈÛÛ  

 ‛ÛÛ¶Û“ÛàïõÀõ¨Û …é¤øÅÛé ÉÛä× ? ½ÛÛÀõ©Û¾ÛÛ× ‛ÛÛ¶Û“ÛàïõÀõ¨Û¶Ûà …Ûíé²ÛéÜ“Ûïõ ÜÈÛïõÛÍÛ ¸ÛÀõ¶Ûà …ÍÛÀõÛé ›÷¨ÛÛÈÛÛé.  

 

4. ¸Ûé§øà¶Ûà ÈýÛÛ‛ýÛÛ …Û¸Ûà, ¸Ûé§øà¶ÛÛ× ÍÈÛÄõ¸ÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÀõÛé.  14 

     …¬ÛÈÛÛ  

 ¸ÛóÛé. ¼ÛÛé¾ÛÅÛé …Û¸ÛéÅÛà ¾ÛÐü«Û¾Û ÈÛé˜ÛÛ¨Û …ÛÈÛïõ ïõÀõ©Ûà ¸Ûé§øà¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé.  

 

5. ýÛÛé“ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÀõÛé ƒ 14 

 (1) ¶ÛÛ¶ÛÛ Š²Ûé“ÛÛé ¾ÛÛ¤éø¶Ûà SWS¶ÛÛé …¬ÛÙ __________ ™öé.  

    (ÍÛÛéÉýÛÅÛ ÈÛéÅÛºéõÀõ Íïõà¾Û, ÍÛá“ÛÅÛ ÈÛà¶¦øÛé Íïõà¾Û, ÍÛ¸ÅÛà¾Ûé¶¤Öøà ÈÛéÅÛºéõÀõ Íïõà¾Û)  

 (2) …Ûéî¤øÛé¼ÛÀõ 2006¾ÛÛ× ¶ÛÛ¶ÛÛ× …Ûíé²ÛéÜ“Ûïõ ÍÛÛÐüÍÛÛé¶Ûà ¾Ûæ¦øàÀõÛéïõÛ¨Û¶Ûà ¾ÛýÛÛÙþùÛ ` _________ ïõÁõÛé¦ø 
ïõÀõÈÛÛ¾ÛÛ× …ÛÈÛà Ðü©Ûà.  

   (` 5 ïõÁõÛé¦ø, ` 4 ïõÁõÛé¦ø, ` 3 ïõÁõÛé¦ø) 
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 (3) ÍÈÛÛ©Û×ªýÛ ¸Û™öà ½ÛÛÀõ©Û¶Ûà ¸Ûó¬Û¾Û …Ûíé²ÛéÜ“Ûïõ ¶ÛàÜ©Û _________ ÍÛÛÅÛ¾ÛÛ× ›ÛÐéüÀõ ¬Ûˆ.  

   (1948, 1950, 1956) 

 (4) ‛ÛÛ¶Û“Ûà‚ÛéªÛé Ü¼Û¶ÛïõÛýÛÙ‚Û¾Û …¶Ûé ¾ÛÛ×þùÛ …éïõ¾ÛÛé¶ÛÛ× ¸Ûä¶ÛÁú©¬ÛÛ¶Û ¾ÛÛ¤éø _________ ÍÛ×Í¬ÛÛ ïõÛ¾Û“ÛàÀõà 
¼Û›ÛÈÛé ™öé.  

   (FERA, MPTP, BIFR) 

 (5) 1977¶Ûà …Ûíé²ÛéÜ“Ûïõ ¶ÛàÜ©Û¾ÛÛ× …¬ÛÙ©Û×ªÛ¾ÛÛ× “Stabilizing Force” ©ÛÀõàïéõ ________ ‚ÛéªÛ¶Ûé 
›÷ÈÛÛ¼ÛþùÛÀõà ÍÛÛê¸ÛÛˆ Ðü©Ûà.  

   (‛ÛÛ¶Û“Ûà‚ÛéªÛ, ÍÛ×ýÛäî©Û‚ÛéªÛ, ›ÛÐéüÀõ‚ÛéªÛ) 

 (6) …é¾Û.…Ûé.ýÛä.¶ÛÛé …¬ÛÙ _________ ¬ÛÛýÛ ™öé.  

   (¾ÛÛé¶ÛÛé¸ÛÛéÅÛà …Ûéºõ ýÛäÜ¶Û¤ø, ¾Ûé¾ÛÛéÀéõ¶¦ø¾Û …Ûéºõ …¶¦øÀõÍ¤éø¶¦øá“Û, ¾Ûé¾ÛÛéÀéõ¶¦ø¾Û …Ûéºõ ýÛä¤øàÅÛà¤øà) 

 (7) ½ÛÛÀõ©Û¾ÛÛ× ŠþùÛÀõàïõÀõ¨Û¶ÛÛ× ¸Û“ÛÅÛÛ×¶Ûà ›ÛÐéüÀõÛ©Û _________¶Ûà ÍÛÛÅÛ¾ÛÛ× ïõÀõÈÛÛ¾ÛÛ× …ÛÈÛà.  

   (1980, 1991, 1977)  

 (8) 1991 ¸Û™öà¶ÛÛé ÍÛ¾ÛýÛ ½ÛÛÀõ©Û ¾ÛÛ¤éø _________ ÍÛ¾ÛýÛ “Û¨ÛÛýÛ ™öé.  

   (…ÛÜ¬ÛÙïõ ÍÛäµÛÛÀõÛ, …Ûíé²ÛéÜ“Ûïõ ÜÈÛïõÛÍÛ, ‛Ûé©ÛàÜÈÛïõÛÍÛ) 

 (9) ½ÛÛÀõ©Û¾ÛÛ× _________ ¸Û×˜ÛÈÛÌÛâýÛ ýÛÛé›÷¶ÛÛ¶ÛÛé ÍÛ¾ÛýÛ“ÛÛÇÛé …Ûíé²ÛéÜ“Ûïõ ’õÛ×Ü©Û¶ÛÛé “Û¨ÛÛýÛ ™öé.  

   (¸ÛÐéüÅÛà, ¼Ûàœ÷, ¸ÛÛ×˜Û¾Ûà)  

 (10) ÍÛÀõïõÛÀõ ›ÛÐéüÀõ ÍÛÛÐüÍÛÛé¶ÛÛ× ïéõ¤øÅÛÛïõ ÉÛéÀõÛé ‛ÛÛ¶Û“Ûà‚ÛéªÛ¶Ûé …Û¸Ûé, ©ÛÛé …Û ¸ÛóÜ’õýÛÛ¶Ûé _________ 
ïõÐéüÈÛÛýÛ.  

   (ÜÈÛÜ¶ÛÈÛéÉÛàïõÀõ¨Û, ŠþùÛÀõàïõÀõ¨Û, ÈÛíéÜÊÈÛïõàïõÀõ¨Û) 

 (11) „¸ÛóÛˆÈÛé¤ø ÜÅÛÜ¾Û¤éø¦ø ÉÛ¼þù‟ _________ ï×õ¸Û¶Ûà¶ÛÛ× ™öé¦éø ¾ÛæïõÈÛÛé ºõÀõÜ›÷ýÛÛ©Û ™öé.  

   (‛ÛÛ¶Û“Ûà, ›ÛÐéüÀõ, ÜÈÛþéùÉÛà ï×õ¸Û¶Ûà)  

 (12) ½ÛÛÀõ©Û¾ÛÛ× ï×õ¸Û¶ÛàµÛÛÀõÛé ________ ÈÛÌÛÙ¬Ûà ÅÛÛ“Ûä ¸ÛÛ¦ø¿Ûé.  

   (1956, 1966, 1976) 

 (13) ï×õ¸Û¶Ûà¾ÛÛ× ÍÛÛ¾ÛÛ¶ýÛ Àõà©Ûé ÍÛ½ýÛÛé¶Ûà ›÷ÈÛÛ¼ÛþùÛÀõà _________ ÐüÛéýÛ ™öé.  

   (¾ÛýÛÛÙÜþù©Û, …¾ÛýÛÛÙÜþù©Û, ÉÛæ¶ýÛ)  

 (14) ÜÈÛÜÅÛýÛ¾ÛÍÛ¶Û¶ÛÛ× ¾ÛÛé¦éøÅÛ¾ÛÛ× ÉÛéÁõÐüÛéÅ¦øÁõÛé¶Ûé ÍÛ×©ÛäÌ¤ø ÀõÛ‛ÛÈÛÛ ________ ¶ÛºõÛé ›÷ÄõÀõà ™öé  

   (ÅÛ”Ûä©Û¾Û, ¾ÛÐü©Û¾Û, ÉÛæ¶ýÛ) 

____________ 
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Instruction : Indicate the same number as given in the question paper. 

 

1. Clarify the importance of large-scale industries in Indian Economy. 14 

                       OR 

 Explain the importance of small scale and cottage industries in India. 

 
2. What is industrial policy ? Discuss the necessity and aims of industrial policy. 14 

                        OR 

 Evaluate the Industrial Policy of 1991 of the Government of India. 

 
3. Give the meaning of industrial development and evaluate the industrial development in 

India.   14 

OR 

 What is privatization ? Discuss the effects of privatization on the industrial 

development of India. 

 
4. Give the definition of „Firm‟ and discuss the nature of a firm. 14 

                    OR 

 Explain the process of maximizing sales revenues of a firm given by Prof. Baumol. 

 
5. Choose the correct option : 14 

  (1) _________ is the meaning of SWS for small scale industries. 

   (Social Welfare Scheme, Single Window Scheme, Supplementary Welfare Scheme) 

 (2) In October 2006, the investment limit of small scale industries was set to                       

_________. (` 5 crore, ` 4 crore, ` 3 crore) 
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 (3) After India‟s independence the first industrial policy was declared in the year 

_________. (1948, 1950, 1956) 

 (4) _________ institution is working to reestablish inefficient and sick units. 

   (FERA, MPTP, BIFR) 

 (5) In 1977 _________ was given the responsibility to work as “Stabilizing Force”.  

   (Private Sector, Joint Sector, Public Sector) 

 (6) The meaning of M.O.U. is _________. 

   (Monopoly of Unit, Memorandum of Understanding, Memorandum of Utility) 

 (7) The policy of liberalisation was announced in the year _________ in India. 

   (1980, 1991, 1977) 

 (8) In India the period after 1991 was considered as the period of _________. 

   (economic reforms, industrial development, agriculture development) 

 (9) The period of the _________ Five Year Plan is known as the period of industrial 

revolution. (First, Second, Fifth) 

 (10) When the government handsover some shares of public sector enterprises to 

private sector, it is called the process of _________. 

   (disinvestment, liberalization, globalisation) 

 (11) It is compulsory to insert the phrase “private limited” for a _________ company 

at the end of its name. (private, public, foreign) 

 (12) In India, Company Law has been implemented from _________. 

   (1956, 1966, 1976) 

 (13) Normally responsibility of members in a company is _________. 

   (limited, unlimited, zero) 

 (14) _________ profit is necessary to satisfy the shareholders in the Williamson‟s 

model. (Minimum, Maximum, Zero) 

___________ 
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1. Š²Ûé“Û ÍÛÛÐüÜÍÛïõ¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé …¶Ûé ©Ûé¶ÛÛ× ïõÛýÛÛë ˜Û˜ÛÛë.  14 

    …¬ÛÈÛÛ  

 Š²Ûé“Û ÍÛÛÐüÜÍÛïõ¶ÛÛ× ¾Ûä‛ýÛ ÅÛ‚Û¨ÛÛé ˜Û˜ÛÛë.  

 

2. Š²Ûé“Û ÍÛÛÐüÜÍÛïõ©ÛÛ¶ÛÛ ¸Ûà¤øÀõ …éºõ. ¦ÖøïõÀõ¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûà ˜Û˜ÛÛÙ ïõÀõÛé.  14 

     …¬ÛÈÛÛ  

 Š²Ûé“Û ÍÛÛÐüÜÍÛïõ©ÛÛ¶ÛÛ ÉÛä¾¸Ûà¤øÀõ¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûà ÍÛ¾Ûà‚ÛÛ ïõÀõÛé.  

 

3. Š²Ûé“Û ÍÛÛÐüÜÍÛïõÛé¶ÛÛ ÜÈÛïõÛÍÛ¾ÛÛ× ÍÛÀõïõÛÀõ¶Ûà ½ÛæÜ¾ÛïõÛ¶Ûà ÍÛ¾Ûà‚ÛÛ ïõÀõÛé.  14 

     …¬ÛÈÛÛ  

 ÀõÛé›÷“ÛÛÀõà¶Ûà ©ÛïõÛé¶Ûä× ÍÛ›÷Ù¶Û ïõÀõÈÛÛ¾ÛÛ× Š²Ûé“Û ÍÛÛÐüÜÍÛïõÛé¶ÛÛé ºõÛÇÛé ÍÛ¾Û›ÛÈÛÛé.  

 

4. …éïõ¾ÛÅÛ‚Ûà ÜµÛÀõÛ¨Û¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé. ¼Ûêïõ ÜµÛÀõÛ¨Û¶ÛÛ Ðéü©Ûä…Ûé …¶Ûé ÈÛ“ÛâïõÀõ¨Û ˜Û˜ÛÛë.  14 

     …¬ÛÈÛÛ  

 ÅÛ”Ûä Š²Ûé“ÛÛé¶Ûé ÍÛÐüÛýÛ ïõÀõ©Ûà ÍÛ×Í¬ÛÛ…Ûé¶Ûà ˜Û˜ÛÛÙ ïõÀõÛé.  

 

5. ÍÛÛ˜ÛÛé Š«ÛÀõ ¸ÛÍÛ×þù ïõÀõÛé ƒ 14 

 (1) Š²Ûé“Û ÍÛÛÐüÜÍÛïõ©ÛÛ¶ÛÛé ÉÛ¼þù îýÛÛ×¬Ûà ŠþÕù½ÛÈýÛÛé ? 
   (a) …é¶¤Öéø¸Ûóé¶ýÛÛéÀõ  (b) ›Ûé‛Û¾Û 
   (c) ¶ÛÈÛà¶ÛàïõÁõ¨Û (d) …éïõ¸Û¨Û ¶ÛÜÐü 
 (2) …Ü¶ÛÜÊ˜Û©Û©ÛÛ¶ÛÛé ÜÍÛ±ùÛ×©Û ïõÛé¨Ûé Àõ›æ÷ ïõýÛÛë ? 
   (a) ÉÛä¾¸Ûà¤øÁõ (b) ¶ÛÛˆ¤ø 
   (c) ¦ÖøïõÁõ (d) …éïõ¸Û¨Û ¶ÛÜÐü 
 (3) ¶ÛÈÛà ©ÛïõÛé¶Ûä× ÍÛ›÷Ù¶Û ïõÛé¶ÛÛ ³ùÛÀõÛ ïõÀõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 
   (a) ÍÛ×˜ÛÛÅÛïõ (b) ¾Ûæ¦øà¸ÛÜ©Û 
   (c) Š²Ûé“Û ÍÛÛÐüÜÍÛïõ  (d) …éïõ¸Û¨Û ¶ÛÜÐü 
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 (4) µÛ×µÛÛ¶Ûä× ÍÛ×˜ÛÛÅÛ¶Û ïõÀõ¶ÛÛÀõ ÈýÛÜî©Û _________ 
   (a) ÍÛ×˜ÛÛÅÛïõ  (b) ¤éøî¶ÛÛé’éõ¤ø  
   (c) ¾Ûæ¦øà¸ÛÜ©Û (d) …éïõ¸Û¨Û ¶ÛÜÐü 

 (5) …Ü¶ÛÜÊ˜Û©Û©ÛÛ¾ÛÛ×¬Ûà ŠþÕù½ÛÈÛ©ÛÛé ¶ÛºõÛé ïõÛýÛ¾Ûà ÐüÛéýÛ ™öé ? 
   (a) ÐüÛ (b) ¶ÛÛ 
   (c) ÐüÛ …¶Ûé ¶ÛÛ  (d) …éïõ¸Û¨Û ¶ÛÜÐü 

 (6) …ÛŠ¤ø ÍÛÛéÜÍÛÚ“Û¶ÛÛé ÜÍÛ±ùÛ×©Û ïõÛé¨Ûé …Û¸ýÛÛé ? 
   (a) ¶ÛÛˆ¤ø (b) ¾ÛÛÉÛÙÅÛ 
   (c) ¦ÖøïõÁõ (d) …éïõ¸Û¨Û ¶ÛÜÐü 

 (7) Š²Ûé“Û ÍÛÛÐüÜÍÛïõ©ÛÛ¶Ûé ÜÈÛïõÛÍÛ¶ÛÛ …éÜ¶›÷¶Û ©ÛÀõàïéõ ïõÛé¨Û …ÛéÇ‛ÛÛÈÛé ™öé ? 
   (a) ÉÛä¾¸Ûà¤øÁõ (b) ¶ÛÛˆ¤ø 
   (c) ¾ÛÛÉÛÙÅÛ (d) …éïõ¸Û¨Û ¶ÛÜÐü 

 (8) ÜÍ¬ÛÀõ …¬ÛÙ©Û×ªÛ¾ÛÛ× ¶ÛÈÛ¸ÛóÈÛ©ÛÙ¶Û¶Ûé …ÈÛïõÛÉÛ ™öé ? 
   (a) ¶ÛÛ  (b) ÐüÛ 
   (c) ÐüÛ …¶Ûé ¶ÛÛ  (d) …éïõ¸Û¨Û ¶ÛÜÐü 

 (9) ›Ûé‛Û¾Û ïéõ¤øÅÛÛ× ÍÈÛÄõ¸Û¶ÛÛ× ÐüÛéýÛ ™öé ? 
   (a) ¶ÛÈÛ (b) ÍÛÛ©Û 
   (c) ˜ÛÛÀõ (d) ¼Ûé 

 (10) …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ …é ïéõÈÛä× ¸ÛÜÀõÈÛ©ÛÙ¶Û ™öé ? 
   (a) “Ûä¨ÛÛ©¾Ûïõ (b) ¸ÛÜÁõ¾ÛÛ¨ÛÛ©¾Ûïõ 
   (c) (a) …¶Ûé (b) ¼Û×¶Ûé (d) …éïõ¸Û¨Û ¶ÛÜÐü 

 (11) ¾ÛÛé¤øÛ Š²Ûé“ÛÛé¾ÛÛ× …éïõ ÅÛÛ‛Û ÄõÜ¸ÛýÛÛ¶ÛÛ ÀõÛéïõÛ¨Û ÍÛÛ¾Ûé ÀõÛé›÷“ÛÛÀõà¶Ûà ©ÛïõÛé …×þùÛ›÷é ïéõ¤øÅÛà Š½Ûà ¬ÛÛýÛ 
™öé ? 

   (a) ¼Ûé (b) ˜ÛÛÀõ 
   (c) ¸ÛÛ×˜Û (d) ÍÛÛ©Û 

 (12) ½ÛÛÁõ©ÛàýÛ …Ûíé²ÛéÜ“Ûïõ ¶ÛÛ¨ÛÛïõàýÛ Ü¶Û“Û¾Û¶Ûà Í¬ÛÛ¸Û¶ÛÛ îýÛÛÀéõ ïõÀõÈÛÛ¾ÛÛ× …ÛÈÛà Ðü©Ûà ? 
   (a) 1988 (b) 1980 
   (c) 1970 (d) 1948 

 (13) ½ÛÛÀõ©ÛàýÛ …Ûíé²ÛéÜ“Ûïõ ÉÛÛ‛Û …¶Ûé ÀõÛéïõÛ¨Û Ü¶Û“Û¾Û¶Ûà Í¬ÛÛ¸Û¶ÛÛ îýÛÛÀéõ ïõÀõÈÛÛ¾ÛÛ× …ÛÈÛà Ðü©Ûà ? 
   (a) 1980 (b) 1960 
   (c) 1955 (d) 1945 
 (14) ¶ÛÛ¨ÛÛïõàýÛ ÈýÛÈÛÍ¬ÛÛ ›Ûé‛Û¾Û¾ÛÛ× ÉÛä× ïõÀéõ ™öé ? 
   (a) ÈÛµÛÛÁõÛé (b) ”Û¤øÛ¦øÛé 
   (c) (a) …¶Ûé (b) ¼Û×¶Ûé (d) …éïõ¸Û¨Û ¶ÛÜÐü 

___________ 
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1. Explain the meaning of an entrepreneur and discuss its functions. 14 

             OR 

 Discuss the main characteristics of an entrepreneur. 

 
2. Discuss the theory of entrepreneurship of Peter F. Drucker. 14 

              OR 

 Evaluate the theory of Entrepreneurship of Schumpeter. 

 
3. Evaluate the role of government in the development of an entrepreneurs. 14 

                         OR 

 Explain the role of entrepreneurs in the generating employment opportunitie. 

 
4. Explain the concept of micro credit. Discuss the objectives and classification of bank 

credit.   14 

              OR 

 Discuss the institutions helping small scale industries. 

 
5. Choose the right answer : 14 

 (1) How the word entrepreneurship came into existence ? 

   (a) Entrepreneur (b) Risk 

   (c) Innovation (d) No one 

 (2) Who gave the doctrine of uncertainty ? 

   (a) Schumpeter (b) Knight 

   (c) Drucker (d) No one 

 (3) Who generates new opportunities ? 

   (a) Manager (b) Capitalist 

   (c) Entrepreneur (d) No one 
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 (4) Person managing a business __________. 

   (a) Manager (b) Technocrat 

   (c) Capitalist (d) No one 

 (5) Is the profit generated from uncertainty permanent ? 

   (a) Yes (b) No 

   (c) Yes and No (d) No one 

 (6) Who gave the doctrine of outsourcing ? 

   (a) Knight (b) Marshall 

   (c) Drucker (d) No one 

 (7) Who says that entrepreneurship is an engine of development ? 

   (a) Schumpeter  (b) Knight 

   (c) Marshall (d) No one 

 (8) Is there any scope of innovation in static economy ? 

   (a) No (b) Yes 

   (c) Yes and No (d) No one 

 (9) How many types of risk are there ? 

   (a) Nine (b) Seven 

   (c) Four (d) Two 

 (10) Economic development is which type of change ? 

   (a) Qualitative (b) Quantitative 

   (c) (a) and (b) both (d) No one 

 (11) How many appropriate opportunities of employment are generated against an 

investment of one lakh rupees in big industries ? 

   (a) two (b) four 

   (c) five (d) seven 

 (12) When Industrial Finance Corporation of India was established ? 

   (a) 1988 (b) 1980 

   (c) 1970 (d) 1948 

 (13) When Industrial Credit and Investment Corporation of India was established ? 

   (a) 1980 (b) 1960 

   (c) 1955 (d) 1945 

 (14) What does financial administration do in case of risk ? 

   (a) Increase (b) Decrease 

   (c) (a) and (b) both (d) No one 

_____________ 


